Year 4 Spring 1 Maths Activity Mat 2

Section 1 Section 2 Section 3 Section 4
Complete the calculation. A newsagent sells 272 Calculate Multiply 3, 6 and 10.
papers in the morning and
155 papers in the afternoon. Write a number statement.
5 8 3 How many papers were sold 69 + 10 =
_ 2 5 6 altogether?
4 + 10 =
52 +10 =
Section 5 Section 6 Section 7 Section 8
Circle the larger number There are 100 people at a List the six factors of 18. Calculate:
of each pair of decimals. party. Half are adults. There
are 24 girls. How many boys 9 x 6 =
14.1 1.4 are there at the party?
27 + 9 =
5.2 25.0
42 + 6 =
3.6 6.0 4x8 =
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Year & Spring 1 Maths Activity Mat 2 - Answers

Section 1 Section 2 Section 3 Section 4
Complete the calculation. A newsagent sells 272 Calculate Multiply 3, 6 and 10.
papers in the morning and
155 papers in the afternoon. Write a number statement.
5 8 3 How many papers were sold 69 + 10 =| 6.9
2 5 6 altogether?
327
427 52+10 =52 3 x6x10 =180
Section 5 Section 6 Section 7 Section 8
Circle the larger number There are 100 people at a List the six factors of 18. Calculate:
of each pair of decimals. party. Half are adults. There
are 24 girls. How many boys 9 x 6 = 54
@ 1.4 are there at the party?
27+9=1| 3
5.2 1,2,3,6,9, 18
42+6=| 7
3.6 26 4 x 8 = 32
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Year 4 Spring 1 Maths Activity Mat 2

Section 1 Section 2 Section 3 Section 4
Complete the calculation. The mileage of a car is 7479 Calculate Multiply 7, 3 and 4.
miles. In the next month,
it is driven a further 1962 35+ 10 = Write a number statement.
9065 miles. What is the mileage
_2829 now? 78 + 100 =
42 + 10 =
40 +100 =
Section 5 Section 6 Section 7 Section 8
Circle the larger number A school orders 200 pencils. List all the factors of these Calculate:
of each pair of decimals. 168 are given out. The numbers. The number of factors
remaining pencils are placed is in brackets. x =8 =56
5.42 5.27 into two boxes of equal
amount. How many pencils 20 (6)
: +9=4
are in each box?
1.18 0.81 16 (5)
3x70-=
22 (4)
1.35  1.53 90 x 9 =
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Year & Spring 1 Maths Activity Mat 2 - Answers

Section 1

Complete the calculation.

9065

-2829
6236

Section 2

The mileage of a car is 7479
miles. In the next month,
it is driven a further 1962
miles. What is the mileage
now?

Section 3
Calculate

35+10= |33

78 + 100 =|0.78

42 +10= | 4.2

Section &4
Multiply 7, 3 and 4.

Write a number statement.

9441 40 =100 = | 0.4 7x3x4=284
Section 5 Section 6 Section 7 Section 8
Circle the larger number A school orders 200 pencils. List all the factors of these Calculate:
of each pair of decimals. 168 are given out. The numbers. The number of factors
remaining pencils are placed is in brackets. 7 | x=8=56
@ 5.27 into two boxes of equal
amount. How many pencils 20 (6) 1,2, 4,5,10, 20 36 | +9-4
are in each box? ST
0.81 16 (5) 1,2,4,8,16
= |21
22 (4) 1,2, 11, 22 3x70= 1210
1.35 @ 16 90 x 9 = 810
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Year 4 Spring 1 Maths Activity Mat 2

Section 1 Section 2 Section 3 Section 4
Complete the calculation. The winning candidate in an Calculate Multiply 3, 9 and &
election polls 46 915 votes.
The other three candidates 364 + 10 = Write a number statement.
2 3 742 poll 37 396 altogether. How
_ 96 1 9 many people voted in the 1607 + 10 =
election?
5195 + 100 =
1801 + 100 =
Section 5 Section 6 Section 7 Section 8
Write these decimals in order, Polly has saved £28. List all the factors of these Calculate:
smallest first. For the next eight .nu.mtl)oers.l;l':e number of factors
is in brackets. _
6.6, 6.02, 6.26, 2.66, 6.2 weeks, she saves the x5 =300
same amount. She 24 (8)
now has £80. How x 6 =480
much has she saved 21 (&)
?
5.08, 5.8, 0.85, 5.5, 5.55 each week? + 8 =140
45 (6)
36 (9) *90=5
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Year & Spring 1 Maths Activity Mat 2 - Answers

Section 1 Section 2 Section 3 Section 4
Complete the calculation. The winning candidate in an Calculate Multiply 3, 9 and &
election polls 46 915 votes.
The other three candidates 364 + 10 = 36.4 Write a number statement.
2 3 742 poll 37 396 altogether. How
_ 96 1 9 many people voted in the 1607 + 10 = 160.7
election?
14123 5195 + 100 = | 51.95
84 311 1801100 = | 1801 3 x4x9=108
Section 5 Section 6 Section 7 Section 8
Write these decimals in order, Polly has saved £28. List all the factors of these Calculate:
smallest first. For the next eight .nu.mtl)oers.l;l':e number of factors
is in brackets. -
6.6, 6.02, 6.26, 2.66, 6.2 weeks, she saves the 60 | x5 =300
same amount. She
24 (8)| 1,2, 3,4,6,8,12, 24
2.66(16.02|| 6.2 ||6.26]|]| 6.6 now has £80. How 80 | x 6 = 480
much has she saved 21 (&) 1,3,7, 21
?
5.08, 5.8, 0.85, 5.5, 5.55 each week: 320| + 8 =40
45 (6)| 1,3,5,9, 15, 45
0.85]|5.08|| 5.5 ||5.55|| 5.8 £6.50 36 (9) [ 123, 46,9, 12, 18, 450|+90=5
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